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1.A customer uses Veeam to backup their entire datacenter.

Which Veeam feature allows them to recover a single email from their Exchange server?
A. Changed block tracking

B. Explorer for Storage Snapshots

C. Data Mover Service

D. SureBackup

Answer: B

2.A customer has a SAN infrastructure with the HPE C-class blade Enclosure, and a mix of proliant
G7,gen8 and Ge9 server .They require a new storage platform ...

How can you confirm the storage array will be supported in the existing environment?

A. Check recommended firmware levels in the HP SAN design reference guide to ensure firmware
compatibility

B. Document existing server and SAN information, and consult SPOCK to ensure firmware compatibility
C. Design and array with the latest firmware, and recommend that the customer engage HPE point Next
to upgrade the existing hardware

D. Design an array with older version of the firmware to ensure compatibility

Answer: B

3.What is the purpose of WWN in FC SAN? (Choose two.)
A. Identification of zone members

B. Identification of entities denied access to a volume

C. Identification of entities via Storage Name Server (SNS)
D. Load balanced frame delivery

E. Forward translation of DNS entries

Answer: C.E

4 What owns the physical drives in an HPE 3PAR StoreServ Express Layout?
A. a logical disk

B. a chunklet

C. a single node

D. a node pair

Answer: D

5.An existing Nimble customer is interested in adding storage to their environment to store his Backups,
but has a constrained budget and limited personal.

The solution must scale to allow for substantial growth over the next five years?

A. Nimble SF series

B. Nimble AF series

C. Nimble cloud volume

D. Nimble CS series

Answer: B
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